Homework 8.

1. Using the multiple sequence alignment: 
- calculate distances between all pairs of sequences (p-distance, PC-distance, gamma-distance (a=2.25)),
      - construct a tree based on PC-distance and calculate the branch lengths of this tree.
           AATY-PPKLRAHIDSAAQDTPIGH
           AARY-PLGLRA-IQSIIQLTPLHH
           AIRTGPLGIKA—NTLLQQ—LKLHG
2. Run MEGA (PHYLIP (http://bioweb.pasteur.fr/seqanal/interfaces/protdist-simple.htmlP)) to construct the phylogenetic tree for cd00735 (with the bootstrap) using NJ method and different distance matrices (p-distance, PC-distance, PAM-distance). Answer the following questions:

· What groups of proteins do you see on this tree?

· Which nodes have statistically reliable bootstrap values?

· How different are the trees produced by different distance matrices and why?
